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MICROECONOMICS-I — GENERAL
Paper : GE-1.1 Chg

Full Marks : 40

Candidates are required to give their answers in their own words
as far as practicable.
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1.

(A)

(B)

(C)

(D)

2.

(A) (B)

(C) (D)

3.

(A) (B)

(C) L (D)

4. 2

0 0 —
1 100 100
2 80
3 240 —

(TP) (MP)

(A) 80 (B) 100

(C) 180 (D) 60
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5.

(A) (B)

(C) (D)

6. (LAC) (SAC)

(A) (B)

(C) (D)

7.

(A) (B)

(C) (D)

8.

(A) (B)

(C) (D)

9.

(A)

(B)

(C)

(D)

10.

(A) (B)

(C) (D)

×

11.

(A)

(B)

(C)

(D)
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12.

(A)

(B)

(C)

(D)

13. X Y + 2.50

(A) X Y (B) X Y

(C) X Y (D) X Y

14.

0 1 2 3 4 5
0 30 60 90 120 150
25 49 69 91 117 147

(A) ` 25 (B) ` 30

(C) ` 14 (D) ` 09

15.

(A) (B)

(C) (D)

16.

(A) (B)

(C) (D)

17. MPL = 6, MPK = 30, w = 12 r = 84,
w = r = MPL = MPK = 

(A) (B)

(C) (D)
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18.

0 200 3 500 0
5 200 3 500 50

10 200 3 500 100
15 200 3 500 150

``

(i) (ii) 50 (iii) 100 

(A) (i) (ii) ` 2,500 (iii) ` 35 (B) (i) (ii) ` 1,000 (iii) ` 50

(C) (i) (ii) ` 2,500 (iii) ` 35 (D) (ii) ` 3,500 (iii) ` 25

19.

(A) > >

(B) > =

(C) = > >

(D) < <

20.

(A) >

(B) <

(C) >

(D) <

21. (MC)

(A) MC

(B) MC

(C) MC 

(D) MC ‘U’
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22.

(A) (B)

(C) (D)

23. 1 (MR) (TR)

(A) MR = TR = 0 (B) MR = TR = 

(C) MR = 0, TR = (D) MR = TR = 

24.

(A) (B)

(C) (D)

25. 10 (MC) MC = 2Q –8

(A) ` 4 (B) ` 9

(C) ` 10 (D) ` 18.

[English Version]

The figures in the margin indicate full marks.

Group – A

Answer any five questions. 2×5

1. The shift of the budget lines will not be parallel if

(A) Price ratios remain the same.

(B) Price ratios vary.

(C) Income and price ratios both vary in the same proportion.

(D) If the slopes of old and new budget line are same.

2. The cardinal approach to utility is associated with the name of

(A) Hicks (B) Adam Smith

(C) Marshall (D) Pareto.
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3. If the two commodities are perfect complements to each other the relevant indifference curve will be
(A) Negatively sloped and convex to the origin.

(B) Negatively sloped and concave to the origin.

(C) L-shaped.

(D) Positively sloped.

4. Consider the following table and find the output when 2 units of labour are employed.

0 0 —
1 100 100
2 80
3 240 —

Labour Total Product (TP) Marginal Product (MP)

(A) 80 (B) 100
(C) 180 (D) 60.

5. A producer always tries to produce in
(A) Stage-I level of production (B) Stage-II level of production
(C) Stage-III level of production (D) Stage-I and III level of production.

6. The long-run average cost (LAC) curve can be tangent to the minimum points of the short-run average
cost (SAC) curves :
(A) Always (B) Never
(C) Only at the minimum point of its own (D) Often.

7. Which of the following statements is not consistent with a perfectly competitive market?
(A) Price inflexibility (B) Constant returns to scale
(C) Restricted entry (D) Perfect knowledge.

8. At the point of equilibrium, the marginal cost curve of a perfectly competitive firm must be
(A) Negatively sloped (B) Positively sloped
(C) Horizontal (D) Vertical.

9. The short-run supply curve of a firm under perfect competition is its :

(A) Upward portion of the marginal cost curve above the minimum average fixed cost curve.

(B) Upward portion of marginal revenue curve above the minimum of average fixed cost curve.

(C) Upward portion of the marginal cost curve above the minimum of average variable cost curve.

(D) Upward portion of marginal revenue curve above the minimum average revenue curve.
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10. If the cross price elasticity of demand between two commodities is positive :

(A) The commodities are substitutes.

(B) The commodities are complements.

(C) The commodities are unrelated.

(D) One of the goods is normal and the other one is inferior.

Group – B

Answer any ten questions. 3×10

11. ‘Change in quantity demanded’ refers to

(A) Change in demand for a commodity due to change in income of the consumer.

(B) Change in demand for a commodity due to change in price of its substitute good

(C) Change in demand for a good due to change in price of its complementary goods

(D) None of the above.

12. Which of the following statements is not true?

(A) The price elasticity along a straight line demand curve varies from zero to infinity.

(B) If the demand curve is horizontal, the price elasticity should be zero.

(C) The demand curve will shift to the right if the income of the consumer rises.

(D) All inferior goods are not Giffen, but all Giffen goods are inferior.

13. Cross-price elasticity of demand between good X and good Y is calculated to be + 2.50 . What is the
relation between two goods?

(A) X and Y are substitutes.

(B) X and Y are complements.

(C) X is normal good while Y is the inferior good.

(D) X is the inferior good while Y is the normal good.

14. Consider the following table and find the price of the product.

0 1 2 3 4 5
0 30 60 90 120 150
25 49 69 91 117 147

Output
Total Revenue

Total Cost

(A) ` 25 (B) ` 30
(C) ` 14 (D) ` 9.
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15. According to the law of variable proportions, when the units of variable factor, labour are increased,
keeping the capital fixed, the marginal product of labour will

(A) first increase then decrease. (B) first decrease then increase

(C) increase continuously. (D) remain the same.

16. The locus of the consumer equilibrium points, when income of the consumer changes and prices of the
good remain constant, is known as

(A) Expansion path (B) Ridge lines

(C) Income-Consumption curve (D) Price-Consumption curve.

17. A producer stays at a point on the isocost line where MPL = 6, MPK = 30, w = 12 and r = 84 where
w = price of labour, r = price of capital, MPL = marginal productivity of labour, and MPK = marginal
productivity of capital. What will the producer do to attain the equilibrium?

(A) Employ more labour and sacrifice capital

(B) Employ more capital and sacrifice labour

(C) Employ more labour and capital at the same rate

(D) Reduce labour and capital at the same rate.

18. Study the following table :

  
0 200 3 500 0
5 200 3 500 50

10 200 3 500 100
15 200 3 500 150

Price per unit of Price per unit of
Units of  variable factor Units of fixed factor Output

variable factor fixed factor` `

What is the (i) time period of production (ii) total cost of production of 50 units and (iii) average cost
of production for 100 units?

(A) (i) Short-run (ii) ` 2,500 (iii) ` 35 (B) (i) Short-run (ii) ` 1,000 (iii) ` 50

(C) (i) Long-run (ii) ` 2,500 (iii) ` 35 (D) (i) Long-run (ii) ` 3,500 (iii) ` 25.

19. At the Shut-down point, which one of the following is true?

(A) Price > AC = MC > Min AVC (B) AC > Price = Min AVC = MC

(C) AC = Price > AVC > MC (D) AVC < AC < MC.



( 9 ) U(1st Sm.)-Microeconomics-I-G/(GE-1.1Chg)/CBCS

20. When Average Product of the variable factor is positive but falling, then

(A) It refers to stage-I and Marginal product > Average product

(B) It refers to stage-II and Marginal product < Average product

(C) It refers to stage-I or III and Marginal product > Average product

(D) It refers to stage-II or III and Marginal product < Average product.

21. Which of the following statements about Marginal Cost (MC) is incorrect?

(A) MC passes through the minimum point of Average Cost curve.

(B) MC passes through the minimum point of Average Variable Cost curve.

(C) When total cost rises at the increasing rate MC will be upward sloping.

(D) If Total Cost is a straight line through origin, MC will be usual ‘U’ shaped.

22. In a perfectly competitive market, the type of decision a firm has to make is different in the short-run
than in the long-run. Which of the following is an example of a perfectly competitive firm’s short-run
decision?

(A) What price to change buyers for the product?

(B) Whether or not to enter or exit in industry

(C) The profit maximizing level of output

(D) How much to spend on advertising and sales promotion?

23. In a competitive market, if the price elasticity of demand is 1, what is the value of marginal revenue (MR)
and total revenue (TR) respectively?

(A) MR = Maximum, TR = 0 (B) MR = Maximum, TR = Maximum

(C) MR = 0, TR = Maximum (D) MR = Minimum, TR = Maximum.

24. If the demand is perfectly inelastic and the supply curve is normal, an imposition of tax leads to

(A) Bearing the burden of the entire tax by the consumer.

(B) Bearing the burden of the entire tax by the producer.

(C) Partial bearing of the burden of the tax by the producer.

(D) No change regarding the burden of the tax.

25. The price of a product under perfect competition is ` 10. The marginal cost function is given by
MC = 2Q-8. What is the value of equilibrium output?

(A) 4 (B) 9

(C) 10 (D) 18.


